Výrazy

1. Uprav

2 . (a – 3) – 4 . [ a - ( 2 – 4a)] = 

7x – [ 3 . ( x – 6) – 5 ( x – 2)] =

6a – [ - b + 3 . ( a – b) – a ] =

8x + 2 . [ - 6x – 3x . (1 + x) – x2 ] =

( a – 2b) . ( a + 5b – 3) + ( 3a –4b) . ( - a – b - 2) =

2. Vypočítej hodnotu pro a = - 2, b = 3, c = -1
2a2 + 3c3 – 2 b + b2 =

5a2 – 3 . [( 4a – 2) . c2] + a2] =

3 . { a3 – 2 . [ 4a – 2 . ( b – c2 )] } =

3. Užitím vzorců upravte

( x + 8 ) . ( x - 8 ) + (2 x - 3 ) 2 = 

 ( 3x - 4 ) 2 - ( x + 6 ) ( x - 6 )  = 

 ( 2x + 1 ) 2 - (5x - 1) . 2  =

4. Rozložte na součin pomocí vzorců nebo vytýkáním

18m4n2 - 9 m4n2 + 6 m2n = 



9s2 - 12r2s + 4r4 =

r - 6 + 3x ( r - 6 ) = 




0,01p2 + 0,2prs + r2s2 =

6m - 18 + mn - 3n = 




 0,16x2 - 0,4 =

